rldetech -

Air Ride Technologies

Part # 11510110 - 1998-2013 C5/C6 HQ Series Shocks

Recommended Tools

(" h
. J
(" h
\_ J

1998-2013 C5/C6 HQ Series Shocks
Installation Instructions

Table of contents

Pages 2-3 Front HQ Shocks
Pages 4-5 Rear HQ Shocks
Shock Adjustment

o
www.ridetech.com @GllD

812-482-2932




r I d Etec h Installation

Air Ride Technologies Instructions

1998-2013 C5/C6 HQ Front Smooth Body Shocks

Major Components .....In the box

Part # Description

22879599 6.5" Stroke Shock
70011139 5/8" ID Shock Bushing
90002068 | Wide Trunnion
70011141 Bushing Support Washer
70011140 Stem Bushing
99372006 | 3/8"-24 Thin Jam Nut

\H“ \“‘ H “ i
MMWWWWWW “HHHHHHHHHH Hm“HHHHHHHHHH HHHH““ ﬂ mmnmn\HI“I\I\I\\ImmIHI\ImIml\IHI\nmlunl\I\l\I\I\I“I\IHI\IHI\I”Hlm\|\|\\|\|\\|\Iﬂl\lﬂl\l\lﬂl\lﬂl\lHI\IHI\I\IHI\IHI\IHI\IHI\IHI\I\IHI\IHI\IHI\IHI\I\\I\I\|H|mm”m”\|\|\|\|\IHI\|HI\I\ ‘

www.ridetech.com
@ 812-482-2932



rldetech

Air Ride Technologies

CoilOver Installation

Installation
Instructions

1. )
&
&

J

g

1. With the OEM Shock removed, install the
RideTech shock. Install a Bushing Support
Washer on to the shock shaft followed by a
Shock Stem Bushing. Insert the assembly
through the factory shock hole in the frame.
With the shock stud sticking through the
frame, install a Shock Stem Bushing on to
the shock stud followed with a Bushing Sup-
port Washer. Install a 3/8"”-24 Thin Jam nut
onto the threads and tighten. Tighten until
the bushing is tight, but not to the point to
where the bushing is bulging past the Support
Washer. Install the 2nd 3/8-24 Thin Jam nut
and tighten it against the first nut.

2. Attach the Trunnion to the OEM Control
arm using the OEM hardware. It made be nec-
essary to rotate the Trunnion to get it in the
correct position. This can be done by sticking
a screwdriver in one of the slots and spinning
the trunnion in the shock bushing.

www.ridetech.com
812-482-2932



r I d Etec h Installation

Air Ride Technologies Instructions

1998-2013 C5/C6 HQ Rear Smooth Body Shocks

Major Components .....In the box

Part # Description

22349999 | 4.75" Stroke HQ Series Shock
70011489 Lower Shock Mount (Attached to Shock)
70011450 Upper Shock Mounting Plate

70011719 Upper Shock Mount

70011138 | 3/4" ID Shock Bushing

90002102 1/2" ID Shock Sleeve

99371040 3/8"-24 x 5/8" S.S. Button Head (Installed in shock)
99431013 7/16"-14 x 1" S.S. Hex Bolt

99432006 |7/16"-14 S.S. Nylok Lock Nut

99501032 1/2"-13 x2 1/2" S.S. Hex Bolt
99503006 1/2" S.S. Flatwasher

99502006 1/2"-13 S.S. Nylok Locknut

— ] — ]
Sl2|8le|lo|N|o|v|s|w|n|— [
(NYINH IR INNY [N F O I NOY F NG F SR NG F NG I NS

www.ridetech.com
@ 812-482-2932



rldetech

Air Ride Technologies

Installation
Instructions

CoilOver Assembly

1. Start be removing the OEM shock. With
the shock removed start installing the New HQ
Series shocks. Using the 7/16-14" x 1" Hex
Bolt and 7/16"-14 Nylok Nut bolt the Upper
Shock Mount to the Upper Mounting Plate.
Do not tighten. The shock mount needs to
clocked on the mounting plate. Tighten the
bolt to the point that you can still turn the
shock mount on the plate. Place the plate in
the car and clock the shock mount so that the
shock mounting bolt is parallel with the lower
mount. With the mount clocked mark the lo-
cation on the plate and remove from the car.
Tighten the 7/16" Bolt and nut keeping the
shock mount clocked correctly.

2. Install the upper mount into the car using
the factory hardware. Check that the upper
Shock mount is positioned with the bolt holes
parallel with the lower shock mount mount-
ing bolt hole.

3. With the upper mount installed insert
the Shock assembly into the upper shock
mount(1). Align the holes in the bracket with
the hole in the Shock sleeve and insert the
1/2" Bolt(2). With the Bolt insert install a 1/2"
Flatwasher(3) followed by a 1/2" Nylok Nut(4)
and tighten.

With the upper Shock installed, attach the
lower mount to the OEM mount on the Con-
trol arm and attach with the OEM hardware.

www.ridetech.com
812-482-2932 @



ri d Etec h é Installation

Air Ride Technologies @ Instructions

Shock Adjustment

—| Shock adjustment 101-  Single Adjustable |

Batwund Adusiment:

Hewr 1o el st o rerer shacks,

The mhound sdjustment bnob b Inmted on the: @R of the shock dvrher protnading frem the syelst.
Yeu masnt first begin st the 7ED ssiting, then set the shodk o o eoft setting of 28.

- B in with the shorks sdiusted o the 750 mhourd postiion full sdff). De this by
roiating the ehound edhestar knoh dedosiss untll b xiopa,
p -k b the rebound ad juster kneb cownter dodk wise M cicks. This ssis the shack
at 2 [pettings 21-3 are typloaly oo soft for riest use)

- you are satisfind with the dds quality, do net do eything, you am st

i the rde ety b ins soft Inresss the damping sifact by otating the rebound nob
dork wiss 3 dida.

i the wehide k& oo softincresse the damplng affect by retating the rebound ok
ol — charck wrien 3 aclifitional dicha,

e

ié-'dﬂnﬂ:ﬂih}nﬂﬂmﬂhﬂumﬂmrﬂd}ﬂrﬂﬂbﬂﬁmﬂndﬂiﬁm!d{h
and you are et
Takoa tha wehide for sncther teet drive: and repset the: alowe sisps until the ide quality B setisfarione

Moim:

O erd off tha wahics wll Boely rmach the deaimd estting befome the cther end. Fthis happens diop acjuriing
the astisfied end ard keep adfusting the unsaticfisd srd untll the overall rids cuality i sritiEfactore

STILL HAVE QUESTIONS?

Tech line hours
Monday - Friday
8AM - 6PM (EST) oo 812-482-2932

www.ridetech.com
@ 812-482-2932



